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A, S TR Tt #, PCB = i, ot & s 8, 98 . wed §
Coating that protects the PCB assembly from moisture, dust in harsh
environment

a. rffua / Conformal

b. @/ Thermal

c. v / formal

d. s/ Silkscreen

Foa g  SRT T T gl Sidl §

Voltage drop across a closed switch

a. @™ A/ Nearly Zero

b. e / Infinite

Cc. Twgw dAlwest / Applied voltage

d. utw ¥ @ =% 7/ None of the above

Wﬁwﬁmﬂnfﬁﬁﬁ%@ﬁwaﬁaﬁﬁaﬁgwmw%
Commonly used solder in electronics is a metal alloy made by combining
a. A/ Tin-Lead |

b. @&/ Iron-Lead

c. fa—<mar/ Tin-Iron

d. g dfer / Iron-Copper

A& Vp wrgd qi # firat aees 8 91 rms. ) ..., B
If Vp is peak voltage of a sine wave then rms voltage will be

a. Vp/2
b, Vp/+2
c. Vp*/2
d. Vp/4

drafaft, (PCB) festrer i wilr B st ardh gfie mil ....... % @ far 3
Unit mil used in PCB designs is equal to

a. U wE e at/ One thousandth of an inch

b. wF = it One hundredth of an inch

¢c. U T whgaar / One tenth of an inch

d. uwdaw ek Al / One fifth of an inch

et TATEST, Yo S e BT JT HAT R
Voltage stabilizer type which uses motor is
a. ger wenia / Manual operated

b. i@ fwr / Automatic relay

c. wifes dwew / Static Voltage

d. =& frifim / Servo controlled
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Tt PCB & awr % e aram=man s e st e 79 el
Liquid cleaner usually used for localized PCB cleaning
a. aAmgEmaEd e / Isopropyl acid

b.  endeiiaga sreeRigr / Isopropyl alcohol

c. AN srenidld / Isopropanoic alcohol

d. mamnREs e / [sopropanoic acid

s yRe freror 3 R dicest wadr 6 Ya= H G e b1 ST fR I d

To provide constant voltage, independent of load current variations, use
a. gatim/ Comparator '

b. s v / Voltage amplifier

c. I Frams / Voltage regulator

d. =%t/ Buffer '

e, T e YR W, $HYe qon ey alreed ot arrgfis w wa L UFE

In a bhalf wave rectifier circuit, frequency of input and output waveform is related
by '

a.  fou =1

b, fou =21,
¢. fou=051%,
d, fout = 4fin

A e SMT it 35 el 3 et % a3 e 3
Which statement gives the advantage of using SMT components ?

a. SMT wes g §/ SMT components ate expensive
SMT wreeri w1 feeemm gfar 2/ Rework of SMT components is difficult
7 PCB 3ni s e smwskar €/ Can be mounted on both sides of PCB

TE BI AR 3 BN % HROT e gitene g & / Difficult to handle as it is small
‘in size

Rating of a transformer is given in

a KV
b. KA
c. KW
d. KVA

W gra wione A, sl o (N 1) wr aqes o8 (N2) ... O St dd 8
In a step down transformer primary turns (N1} and secondary turns (N2) are

related by
.a. N1I>N2
b. NI<N2
c. NI=N2
d. 39w A 4 w18 =/ None of the above

3
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7 3-57q¢ AND iz # 318 g2 wvrerard 8 @, LOW amaeye 9 sa i@ i e svrogant s
gl @

If a 3-input AND gate has eight input possibilities, how many of those
possibilities will result in a LOW output?

o o
oo = b —

frafefiaa 111111110111110111 dwmsn = fianard @ sievwme § wiafda kg
Convert the following mumber 111111110111110111 from binary to
hexadecimal |

a. FDF10
b. 3FDF7
c. FFE3]

d. 1FED2

e e stedt 1 Nt R ST AT oEgese L. BT e

‘Electrolyte used in lead acid baltery is

a. ol ergeere (KOH) / Potassium Hydroxide (KOH)

b.  srrE geRfE wes ( HpS04) / Dilute Sulphuric Acid ( HaSO.)
c. wgifers wire (HCL) / Hydrochloric Acid (HCL)

d. e e / Alkaline Solution

I wa S 1 e 1000mAH 2 & Peifefiga § sl wad 2
If a battery has a capacity of 1000mAH, then which of the following is true
a. T UHHS kO emu Rt [A R @l L gehar ¥
It can source 1A of current for one hour
b, g g # 0.5A =) Eild s whaT
It can source 0.5A of current for two hour

C.  7E I EY % R amr 2A W Hid o el B
It can source 2A of current for half an hour

d. I o
All of the above
fe grea g & ety 0.5 fielt dhe 8 @ gesh sl L. TR

If time period of a sine wave is 0.5 milliseconds then its frequency is

a. 20Hz

b. 200Hz

c. 20000Hz
d. 2000Hz
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U H1GY] FAATIT R ufewer < ufesm L S S
Impedance of an ideal parallel resonance circuit is
a. e/ Infinite

b. s/ Zero
¢. 1K ohms :
d. 3w % @ g 1/ None of the abov

i % fo gere F ELCBs w1 s foer siar 2

ELCBs are mainly used in circuits for

a. W dwes 8 g / Protection against under voltage

b, ofefies dieds & geaw / Protection against over voltage
c. urr % fm @ gean / Protection against current leakage
d.. w9 vt @ gwn / Protection against short circuit

T STf # U Seftees Higgd . ¥ ufafia frr srar

An inverter module in a power supply converts

a. AC&DC /AC TODC

b. DCaAC /DCTOAC

c. AC9AC /ACTOAC

d. DCwDC /DCTODC

Torert o=t fRafert 1 5 Fore argeaerifins S 27 .
How many different states does a 5-bit asynchronous counter have?
a. 4 :

b. 32

c. 16

d. 8

Foerfertere o & 3wty (CPU) % 3 wga wes 2 2

Which of the following are the two main components of the CPU?
a. ey wd dsfie / control unit and registers

b, dsfer @ e 60 / registers and main memory

c. feEmafzed ALU/ control unit and ALU

d  ALUwdsa/ALU and bus

64 x 1 e 3 e 3 ey 2 x 1 st < s A

Number of 2 x 1 Multiplexers are required to implement 64 x 1 Multiplexers

a. 60
b. 61
c. 62
d. 63
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& SR fer-veii & forw g grofh § fhat 3w gfife §2
The truth table for an SR flip flop has how many valid entries?

a 3
b. 2
c. 4
d 1
Tai O =i g fTee-vam 87

Which of the following is a universal Flipflop?

a. @ fem-wdm/ T Flip flop

b. 3., fem-weti / JK Flip Flop

¢. @ Fem-wem / D Flip Flop

d. wmam fem-wem / SR Flip Flop

st 8051 = g7 vl fomn o wd EA gt 3= (HIGH) 7, Y - oomem oo W e T
Rl bl NI SIS TEE HOT

When the 8051 isreset and the EA line is HIGH, the program counter points to
the first pro grém instruction in the:

a. =@ =ie #ET / external code memory

b.  eridie g A/ internal data memory

c. @ EE A/ external data memory

d. waies = il internal code memory

T Tt i arll ) ueh o Rufy 71 98 T B 0 o =% FHH B
Shifting a register content to left by one bit position is equivalent to
a. =@ wm/ Division by two.

g1 Q4 siign / Addition by two.

b
c. g1 sEr/ Multiplication by two
d. s @=eEr/ Subtraction by two.

8051 g daid SHaeer & v At

‘The number of interrupts that can be handled by 8051
a. 3 ‘
b. 4

c. 5

d 6

U WIS f&E o 2

A Microsoft Windows is ...

a. sffidn yorelt / Operating system

b..  diftess wimme / Graphic program

c. @ wmim/ Word Processing

d. =zwmwwem/ Database program
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ot % & P e Ao 00 qof v 3 B e s e 2
A full adder can be implemented by the following gates

2XOR,2 AND, I OR
2XOR,20R, 1 AND
1 XOR, 2 OR, 2 AND
2 XOR,20R, 2 AND

oo

PT-100 s =ifem RTD 2 fraa 0° 4. oo sfder 100Q &1 aﬁﬁmwyﬁﬁumﬁmﬁ
3.9X 1077°C%, @ 10° 2. w 5a whdy s v s

PT-100 is a Platinum RTD whose resistance at 0° C is 1OOQ If the resistance
temperature co-efficient of Platinum is 3.9 X 10 %/ ° C, then find its resistance at

10°C

a. 1390
b, 103.90

c. 61Q

d. 9610

Frvforfa st 3 9 s o a7 29

Which of the following statement is not correct?

a. TRIAC = fg-fiims SCR 2 / TRIAC is a bidirectional SCR

b.  TRIAC ww = wa ausor & / TRIAC is a four layer device
TRIAC &% feareit & wferd 78 972 w1 @ / TRIAC cannot conduct in both
directions

d.  TRIAC w# 3 zfifser swwwr & / TRIAC is a 3 terminal device

Feaferfiaa 7 & = mrgridiee we & aafm 2 9

Which among following is associated with Microsoft Excel?
-'a. - ulew s / Graphic program

b. =@/ Word Processor '

¢. % / Presentation

d. =exfie / Spreadsheet

Freaferflara o] 7 @ -w1 Fom we T 37

Which of the following statement is not correct?
a.  uF Areedie § sife se ufwly g it

- Voltmeter should have a very high resistance
b, uw wier § afy fer sfatir g i

An ammeter should have a very low resistance

c. UE e ¥ arfy fr wfed S R
. A shunt should have a very low resistance
d. o geiifer aleedier @ia & gl am e @

An electronic voltmeter draws appreciable current from source
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e afad frew ZEemit THEIET ... §

The linear variable differential transformer transducer is
a. wwie gimegget / Capacitive transducer

b. =1 ww ziwgEee / Non-inductive transducer

c. W ziwgyw/ Inductive transducer

d. wfadeh giweme / Resistive transducer

CE g, ...t T ofta w BJT & amisee stfiraam o swtvaor foar s &
In CE configuration, the output characteristics of a BJT is drawn between
. IC and VCB

b. IE and VCB
C. IC and VCE
d. IE and VCE

Teyeft i gifsreer % wwet # Tmfetiiad wuw adt €
The following statement is true in case of bipolar junction transistor
a. et ary e urr O St e 8
Collector current is greater than emitter current
b, ary Ui wmo o ot A §
Base current is greater than emitter current

C. SHelget R <9 9§ &0 gt §

Collector current is smaller is smaller than base current

d. <9« S Ui U weldet U § w5 Bl @

Base current is smaller than both emitter and collector current

I aivae ST 4 ... g
The voltmeter reading in the circuit is
100 ko
P

vE O ©

e,

a 5V

b. 0V

c. 1V

d. 2.5V

T HLI(SCR) v, garg
SCR is

a. o, fftrer edfwer / Unidirectional thyriétor
b. - siee wEfex / Uni-junction thyristor
c. fs-feRrr sméfwer / Bidirectional thyristor
d. g — sl gigheet / Bi-junction thyristor
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diat MOSFET ..o ULV BT B

Power MOSFET 1s device

a. ur 4dba faget / Current controlled bipolar

b, ww Fsa ve geft / Cuarrent controlled unipolar

c. deest Frifa Bt / Voltage controlled bipolar

d. des frafia o - gdt / Voltage controlled ur_lipolar

a. sa@eE / Sinusoidal '

b.  taph/ Triangular

c. mEdt/ Saw tooth

d.  suirm ot/ All the above

ziftreer i st ¥ frefi 8w 2 SR

Heat Sinks in Transistors reduce the

a. gitee dier / Transistor Power

b. i@y e / Ambient Temperature
c. SEmamEE / Junction Temperature
d. =eweawr / Collector current

G AR TR ufee wlar ® s wer e L guifye &
An optocoupler is an integrated circuit consists of . __in the same
package , '
a. LED dasfmemie/LED and zener diode
b. LCD w MOSFET/ LCD and MOSFET
¢. SCR uwderig/ SCR and Diode
d. LED w widsrs / LED and photo diode
Frvferfa whtaer 3
The following circuit is
R
| e o]
Vi ' Vo
l 7 Vr1 o ——Vi2 l
a. et/ Clamper
b. ¥/ Clipper
c. T / Regulator
“d. sads / amplifiers.
sfht T e ot SR o Hehd | < TR T Tr 3k fore fEpa smar &
Digital storage oscilloscope is used to measure amplitude of signals
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T 5 B BN % o1 e wa EEIGIE
The charge of the body after losing electron becomes
a. UikAs &9 ¥ eERE / Negatively charged

b.  w=wHE wu & omafiw / Positively charged
c. e v § frsenfas / Electrically neutral
d. wuilw 79 = 7@/ None of the above

Tt aftaer =57 wged wRAE e el &

A B
a.  1kQ
b, 4kQ
c. 250Q
d. 200

Frafeifiaa 3 & ) wr aly e (positive) Sreis @ awm 2o
Which of the following circuit employs positive feedback

a. Twer/ Rectifiers

b. @f=/ Oscillators

c. wati®/ Amplifiers

d. =/ Filters

Fmforfiae siu-te wims B ... =

The following op-amp cireuit acts is

G
—

a. ' / Integrator

b, feem / Differentiator

¢. e et / Voltage follower
d.

ot waeds / Differential amplifier

10
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Twrferiae samor Yar # & @, ffor gift w sy sl =t e 3 o smelt wer (S9e) F
ERINETYIE

Which of the following transmission fine use outer conductor (brald) for
avoiding radiation loss and external interference?

a. g/ Fibre

b. @ Ffa / Twisted wires

c. HgERR Y/ Coaxial cable

d. wmwdg/ Open-wire

et ffa-uy H Fee wfEnn H
Input impedance of ideal op-amp is
a. wh/ Unity

b.  @dea/ Infinite
c. A/ Zero
d

100
IR BT BT oo FHight % frepe i = 21
Optical fibre cable operates near ----~=r---- frequency.
a. 80 GHz
b. 800 MHz
c. 800THz .
d. 80 KHz
e H AgeE 2l

Power Amplifier circuit is essential in
a. sl / Receivers

b.  wiged / Modulators

c¢. 3@/ Transmitters

d. ¥gws / Detectors

T S FR W AT AR R Al ¥
An emitter follower has a voltage gain that is
a. 1%sn/Lessthanl -

b. 10 % == / Greater than 10

c. 1¥ofm/ Greaterthanl
d

=/ Zero

11
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ahfaret I aft, Jeads foracer et & o snge T H S SO AL &l
Most widely used transmission line for Cable TV network distribution system is

a. kel &g/ Single wire

b. memmrag/ Twisted wire
c. wrE/ Fibre

d. wmerfse / Coaxial cable

| U N SRS =t quifdr B siel aohd SRR A L ST SfeAfr SfE grar A

An ideal diode presents ---------- when reverse biased and ------~- when forward
biased.

a. e, W/ Open, Short

b. =, gan/ Short, Open

c. g, gan/ Open,Open

d. wie, wid / Short, Short

o T U 3 T F A 1 v sy Rl o e, shrem, gy, wem gid % T w S .,
The resistance value of a carbon resistor having red, black, green and silver colot
bands is ...

a. 2M ohms +/~ 10%

b. 20M ohms +/- 10%

c. 200M ohms +/- 10%

d. 20M ohms +/- 5%

SYRIFT TG AT T AGR AIGEH HT 8 v, 4 el €
The Disadvantage of Frequency Modulation over Amplitude Modulation scheme
is -
Q. Fod HIGEH Hehd o) AT §
High modulating signal is required
b. I3 e Hha ) HATEIRAT §
High carrier signal is required
c. WIHE
Noise is high

A, e e f Y e

Larger bandwidth is required

FM sifmfeat #, amm div....
In FM receivers, amplitude limiter
a. o v % o i vatiih w8
Amplifies the low level signals
b. T wR % Wl i affo wEn @
Attenuates the low level signals
C. T dehdl § Fneft aReda = e gar @
Eliminates any change in signal amplitude
d. swwm el / All the above

12
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ST W Y gerdi 3§ GrEar w36 W e A 2l
Major advantage of Fibre Optic Communications compared to line
communication is

a. ‘&‘E faar / More Bandwidth

b. =1 safawwor / More Interference
c. @ra/ Cost

d.  weumm e ghi / Higher power loss
ek o Genfer .. 2

A coupling capacitor is

w DCwd/ a DC short

w ACgar/ a AC open

wh DC gemuw AC wid / a DC open and AC short
@ DC wié qur AC @en / a DC short and AC open -

20 oo
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